BSE
APHIS

2006 7 20




BSE
2006 4 27 2006
17 BSE 1999 2006
Office of Management and Budget OMB
APHIS
APHIS
APHIS
RTI RTI RTI 3
RTI

. BSE 100 1

. BSE BSurvE
Bayesian BBC

. APHIS

RTI

4 RTI



BBC

RTI

APHIS

BSurvE

2006

BSE
3

17

RTI BBC

APHIS

APHIS

11

BSE

BSurvE



1990

2005
1 2004 2006
1994 2003
3 11 BSE
80% BSE 2004
1980 1990
2006 3 17
1 7
2004
2001
2003
2004 2006 1993
BSE
OIE
2
BSurvE
2004
7
2 2004 BSE
1992
2004
2006 1999 2003



BSE

BSE
BSE

FSIS



BSE

BSurvE
2004
BSurvE
4
BSE
BSE
BSE
BSE
BSE
BSE
BSurvE



%

25% 33%
APHIS

50
Ns N
N 82
V() =S
6

15



_ 6x (5) _

c 15 I 0.05
2
[ CER  CER=0.0034
1967
CER = 1-(1- 0.05)
3
6 BSE
99.3% 6
NC= NE= NW= SC=
SW=

6 P, =P S; =82

S; =S



(N-1) = (N -H)

2 o2 _ o2
S2=82=82
OIE
APHIS
2.
1
2003
2 1

BSE

17

3.8.4.2

APHIS

OIE

OIE

1999



5
5
1
APHIS
BS
APHIS 2006
2006 6 1 2004 10 24
2004 6 1 2004 10 24
5
1999 2003
2001
2004
2004 5 31 2004
2004 6 1
2 5
5

10

2001

5 31



5 5
5 17
1
1 BSurvE B BBC 5
90%
dj.e
Cjt BSurvE BSurvE
BSurvE
2005 2004
EU
24 30
EU 2004 BS
88% 10% 0.7% 0.03% EC 2005
BSurvE 89% 7% 4% 0.09%
BSurvE
2004 EU BSE
29% 49% 23%
18% [
29% 49% 2% 20% ] BSurvE
17% 10% 10% 64% BSE

11



BSE

BSurvE
EU BSE
APHIS
EU
BSurvE
EU
BSurvE 2004 EU
BSurvE

EU

EU BSurvE
Cj: BSurvE

5% 10% 10% 75% EU
D
2006 2004 EU
29% 49% 2% 20%
5% 10% 10% 75%
Cje
2
2 2 2004 EU BSurvE B
BBC 90%

12



1997

2001

BSurvE
3.3%

1%

BSurvE
2003

BSE

13

APHIS

BSE

1999

1%

1%

APHIS



